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2. HRi IHERAT GRuf) S TN BldT 2 T HE H
(a) HTET (b) wfesrent (c) Sgh (d) =fr o 1

430/2/1 g 2

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

%E

General Instructions :
Read the following instructions very carefully and strictly follow them :
(i) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8-questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions.of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt on‘l&\one of the choices in such questions.

(vii) In addition t %@, separate instructions are given with each section
and questio
@Sh

(viii) Useof ¢ Qlcuffors is not permitted.

$

erever necessary.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct option.

1. HCF of two numbers is 27 and their LCM 1s 162. If one of the number is
54, then the other number is

(a) 36 ) 35 © 9 ) 81 1

2. The cumulative frequency table is useful in determining

(a) Mean (b) Median
(¢) Mode (d) All of these 1
.430/2/1. | 3 P.T.O.
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3. 3Sfd-1H, O 99 % &g 2 | PQ T Sfian 2 941 PT, P W U% ¥991 @1 §, I PQ &
1Y 50° ST DIV FATd 2 | £ POQ HITHN &

(a) 130° (b) 90° © 100° d) 75° 1

T {
\V

4. 23 @
(a) T 2 | (b) TfEEEET 2 |
(c) T TEATE | (d) T Ui TN g | 1

5. < Tk U W1 IVTA TV | 31feres T 3feres Teh ford 3TH I TRiepaT @ -

(@ 1 S © 2 @ 2 1
4 & 2 3 4
&
Q
6. Wa@a(3x@§x+k)www@iwwé,ﬁkwm%:
(@) 3 (b) -3 © é @ —% 1
7. %wwww%ﬁmﬁwﬁ%mﬁa@m?
(a) 2 Ob) 4 © 5 @ 1 1

8. T dIF HTd ATCl SgUE oh Aokl ohi STehaH T 7 :
(a) 1 (b) 4 © 2 ) 3 1

430/2/1. 4
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3. In Fig. 1, O is the centre of circle. PQ is a chord and PT is tangent at P
which makes an angle of 50° with PQ. £ POQ is

(a) 130° (b) 90° (c) 100° (d) 75° 1

T {
')

Figure-1
4. 243 1is
(a) an integer (b) a rational number
(¢) an irrational number (d) a whole number 1

5. Two coins are tossed simultaneously. The probability of getting at most
one head is

1 1 2 3

— b) — = d — 1
(a) 1 (b) & (c) 3 (d) 1
Q
S\
6. If one zero of thesfﬁ‘ynomial (8x% + 8x + k) is the reciprocal of the other,

then value of
$

(@ 3 (b) 3 © é @ —% 1

7. The decimal‘expansion of will terminate after how many places of

95 % 52

decimal ?
(a) 2 (b) 4 () 5 (d 1 1

8. The maximum number of zeroes a cubic polynomial can have, is

(a) 1 ) 4 © 2 ) 3 1

.430/2/1. | 5 P.T.O.
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10.

11.

12.

13.

14.

15.

16.

fag (-12, 5) hi g fagaghi 2 -

(a) 12 (b) 5 (c) 13 (d) 169

fe Tk I 1 B, (3, 5) B T Teh AT o 3id 185G (4, 7) AT (2, y) &, Wy HIAAE -
(a) 3 (b) -3 @ 7 @) 4

T 11 8 15 7 e wore i gfd hifse -
e foig e foigati (4, 0) A2 (0, 6) s I T &mwAs
Ebe)
fagati A(1, 3) 741 B(4, 6) I T aTot T@rEs &1 2 : 1 H [wiid i oot fog o
femmepg:

mez—x—6=0a€ﬁ\?ﬁa€qﬁ 21

qﬁsm@——%?ﬁt ﬁ%ﬂrﬂq %I
)
\Q‘Z}

Q
(tan260° + sin®45°) HIAF B

S guEy Byt it G oSt # 3 ;4 7 31U B, 91 37 BRgel % &kl i IIuTd
H

Y91 16 8 20 o I T
(cos 48° — sin 42°) T HH 1A SHINTT |
YA

T F1d ST : (tan 23°) x (tan 67°)
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9. The distance of the point (=12, 5) from the origin is

(a) 12 (b) 5 (c) 13 (d) 169 1
10. If the centre of a circle is (3, 5) and end points of a diameter are (4, 7) and

(2, y), then the value of y is

(a) 3 (b) -3 (c) 7 (d) 4 1

Question numbers 11 to 15, fill in the blanks :
11. The area of triangle formed with the origin and the points (4, 0).and (0, 6)

1s 1

OR

The co-ordinate of the point dividing the line segment joining the points

A(1, 3) and B(4, 6) in the ratio 2 : 1 1s 1
12. Value of the roots of the quadratic equation, x2 —x — 6 =0 are 1

$
5 N\ .
13. Ifsin 6 = —, then t@value of tan 0 1s . 1
13 N
W
@Q

14. The value o&anZGOO + sin245°) is 1
15. The corresponding sides of two similar triangles are in the ratio 3 : 4, then

the ratios of the area of triangles is 1

Question numbers 16 to 20, answer the following :
16. Find the value of (cos 48° — sin 42°). 1

OR
Evaluate : (tan 23°) x (tan 67°) 1
.430/2/1. | 7 P.T.O.
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17.

18.

19.

20.

21.

22.

JRIa-2 |, T Tehesd gail, FSeht o O B a2 ekt forsamd 7 et qen 3.5 oft &,
PQ T AB G # 1 9fy £ POQ = 30° 2, 1 STifhd AT BT Shet 71d HIAT |

IT=R! TR G Bl g 52 T aTehl arel hi TG H H ATGTHAT Teh Tl (hIG T | Th
HTAT STC3TE 3T hl TTRehdT FIT 8 ?

25 T T Tk WG Teh 9o o NER do &1 ugadh s S qH 8 24 W HEE WR |
HIE1 <h TG qUT He o HTH o sit=l shl gl F71d shIfT |

Ife 3k — 2, 4k—6awk+z®@wﬁtaé%%ﬁﬁ%§,ﬁkwmam@ﬁq |
N
N WUz -@
\Q'Z}
Q
I HE= 21@%6%9@%%%2%% |

Teh AT | 10 H 390 U7 25 WTeAl 8 | Teh 38 U shl TTirehe1 TR 72

o S It Teh IR |, 1 T hH ¢ TTSeh BIF shl TRIehdT JTTd shITSTT |
Frere

Tl U TS 1Y 3BT MY | T <Y wnfrekan wima i

() T UTE W EE ST 3 6

(i) < A BT A 9 W Afw g h
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17. In figure-2 ISEQ and AB are two arcs of concentric circles of radii 7 cm and
3.5 cm resp., with centre O. If £ POQ = 30° then find the area of shaded
region. 1
18. A card is drawn at random from a well shuffled deck of 52 playing cards.
What is the probability of getting a black king ? 1
19. A ladder 25 m long just reaches the top of a building 24 m high from the
ground. What is the distance of the foot of ladder from the base of the
building ? 1
20. If 3k — 2, 4k — 6 and k + 2 are three consecutive terms of A.P., then find the
lue of k. 1
value o \Q®
S\
&§
QO Section - B
N
@Q
Question n&oers 21 to 26 carry 2 marks each.
21. In a lottery, there are 10 prizes and 25 blanks. What is the probability of
getting a prize ? 2
22. In a family of three children, find the probability of having at least two
boys. 2
OR
Two dice are tossed simultaneously. Find the probability of getting
(1) an even number on both dice.
(1) the sum of two numbers more than 9. 2
.430/2/1. | 9 P.T.O.
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23.

24.

25.

26.

217.

28.

29.

30.

& T it b1 At 5 Tt qen 3 9t # | 9 g 3\ Sfan i e 7 Hifore S
BT I I T Bl B |

frg it | L 9 sec

: + ;
1+sin® 1-sin6

AYA

a2
Torg Hifs T - 1 tanze = c0s20 — sin20
1+ tan“0

T HT3feRet % Teh e <l e 35 el 7 | 11 i <l gt 7@ et § ufeu 1 fepa =t
TR ST & 7

(2x2 — x + 3) T (2 — x) T W EITT | YTTHS oI et o farfaw |

Que — T
9 G727 9 34 dh Tk T b 3 37 2.

MG o AT B TG f(x) = 5.@6&-%7“ 1.% S &, ql (%+EJ T | T SHIRTT |
(00
Ny
Q
7 oef} AT h1 7S GIfTa 39 2 : 3 uTd H faurioa shife |
S —

4 Tt s <1 Ueh g W qer 59k e § 7 9l <l gl T FRua wh wiTe feig © 9a W
2 Tl Y Eife

T TS %! e arelt g5 21 S e @ | 39 g 20 fee # e & 1 &hel adn
SHeh! 1%k g T <hl TS gl T HIFT |

e x=3sinO+4cosOTAy =3 cos —4 sin 07, q fag Hifvufp 22 + y2 =25
3AYAT
e sin 0 + sin20 = 1 7, a1 g FHIRT fF cos20 + cos0 = 1.
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23. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the
chord of larger circle which touches the smaller circle. 2
1 1 )
24. Prove that : . + . = 2 sec“0 2
1+sin® 1-sinH
OR
a2
Prove that : w = cos20 — sin20 2
1+tan“0
25. The wheel of a motorcycle is of radius 35 cm. How many revolutions are
required to travel a distance of 11 m ? 2
26. Divide (2x2 — x + 3) by (2 — x) and write the quotient and the remainder. 2
Section - C
Question numbers 27 to 34 carry 3 marks each.
27. If o and B are the zeroes of the polynomial f(x) = 5x2 — 7x + 1, then find the
o P
value of (— + —J \Q 3
o) a0
N
W
28. Draw a line sg@lent of length 7 cm and divide it in the ratio 2 : 3. 3
OR
Draw a circle of radius 4 cm and construct the pair of tangents to the
circle from-an external point, which is at a distance of 7 cm from its
centre. 3
29. The minute hand of a clock is 21 ¢m long. Calculate the area swept by it
and the distance travelled by its tip in 20 minutes. 3
30. Ifx=3sin0+ 4 cos0andy=3cos0—4sin 0 then prove that x2 +y2=25. 3
OR
If sin 0 + sin?0 = 1; then prove that cos20 + cos*0 = 1. 3
.430/2/1. | 11 P.T.O.
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31. faghfvufe V3 = sufmagen? | 3
ST
JfFAE TMTRH o TN & 272 G 1032 1 Hgad FHMacs (HCF) 3 shifr | 3

32. Th 3 ABCD @ 311 &7 1 T fog P & g, 1 firg i 6 PA2 + PC2 = PB2 +
PD? 3

33. ferelt se o, =R fim foigati A, B, C 31k D W &3 3T &, 41 ok 3Tpla-3  <umiam a2
IqT 3R THEA HeT b I T & 3N F e 7 <@ o 915, 9T, Iuel d B 2,
T gH T Hradt 8 foh ABCD ush af 2 77 el 399 weha T @ | g ¥ 1

Heh, 9dTsY foh S0 ST TR & ? 3
10
9 o e G e
8 T s S S S
Y 7=y 0 0 R
2 s glele
FEEA
O 3
1 234567 8 910
Wy
JTR{A-3
34. 3TN gRI &A hITTT :
2x—3y+13=0;3x—2y+12=0 3
.430/2/1.] 12
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31. Prove that \/g 1s an irrational number. 3
OR
Using Euclid’s algorithm, find the HCF of 272 and 1032. 3

32. In a rectangle ABCD, P is any interior point. Then prove that PAZ + PC2 =
PB?2 + PD2. 3

33. In a classroom, 4 friends are seated at the points A, B, C and D as shown in
Fig. 3. Champa and Chameli walk into the class and after observing for a
few minutes Champa asks Chameli, “Don’t you think ABCD is a square ?”
Chameli disagrees. Using distance formula, find which of them is correct. 3

1

§Q s Bltvg, 3
" \% 1l
3% 2!

% iA; ;

1 2345067 8 9 10
Columns

/<P\'\]OO©O

O =N W

Figure-3

34. Solve graphically :
2x—3y+13=0;3x—2y+12=0 3

430/2/1. | 13 P.T.O.
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35.

36.

37.

38.

39.

40.

g — Y
I G 35 ° 40 T T YT h 4 3Th B |
1 SHUTTA GTYUIThT 1 U 306 &, A UITeh FTd <HIfTT |

Teh AT A1 1 1741 9G 38k 8 UG o g ¥ 5 A% 2 | Il 36 THIGL ¢ 1 1141
Ug 43 8, 1 S8R ndl Ug FTd I |
reran

AT QT 3, 5, 7, 9, ... o fehd &l T TMTHA 120 BT ?

Th Gl o T [ohIll T EST Ueh e, AG] o AL b T TS T F&7 o, TRE 1 I~
I 60° U1 & | 99 98 o & 30 T G ST 2, A I8 I~13 HI01-30° ITa1 8 | J& hl

TS qT T ShY =TS 7 I | [4/3 = 1.732 +fifg

forg HITT o 31 Ty BTl o SThell o1 FUTA Sh! ST SM3AT % &l % 31Ut %
TAH B3 |

A=

maﬁmﬁﬁ@wﬁg\@maﬂaﬁnﬁm%@ﬁﬁmwﬁél

mwaﬁawg&aaﬁm@aﬁaamﬁawmsﬁumwww
NEEICA RG] STl & 219 S 319 T TR0l I3 &AB 1 Shite | (39T
w7 6 el A it )

AYA

T I Sl SR 10T B | 39 I hl ITEHI ST b ST H Bl I gY TH ad o
T YT T SIS TR &, STeleh et 15 o SR o JUTAR & | ST W o TG T 3T
ITa ShifTT |

11 e S 1 95T 36 7, A1 e SRERAT (f) Fd I -

%E

0-10

10 -20

20-30

30 — 40

40 - 50

50 — 60

60 — 70

8

10

f

16

12
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35.

36.

37.

38.

39.

40.

Section - D
Question numbers 35 to 40 carry 4 marks each.

The product of two consecutive positive integers is 306. Find the integers.

The 17th term of an A.P. is 5 more than twice its 8th term. If 11th term of
A.P. is 43; then find its nth term.

OR
How many terms of A.P. 3,5, 7, 9, ... must be taken to get the sum 120 ?

A person standing on the bank of a river observes that the angle of
elevation of the top of a tree standing on opposite bank 1s 60°. When he
moves 30 m away from the bank, he finds the angle of elevation to be 30°.

Find the height of the tree and width of the river..[Take V3 =17 32]

Prove that the ratio of the areas of two similar triangles is equal to the
ratio of the squares of their corresponding sides.

OR

Prove that the length 0%®1gents drawn from an external point to a circle
are equal. gQ\

S
From a solid cydinder whose height is 15 cm and the diameter is 16 cm, a

conical cavi the same height and same diameter is hollowed out. Find
the total surface area of remaining solid. (Give your answer in terms of )

OR

The height of a eone is 10 cm. The cone is divided into two parts using a
plane parallel to its base at the middle of its height. Find the ratio of the
volumes of the two parts.

The mode of the following frequency distribution is 36. Find the missing
frequency (f).

Class 0-10{10-20|20 - 3030 —40{40 — 50|50 — 60|60 — 70
Frequency | 8 10 f 16 12 6 7

.430/2/1. | 15
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